Y3 Block 4 Home leam'mg

KS1 homophones and near-homophones

Choose the correct homophone to complete each sentence.

1. It seems like all ready to leave now. there their they're
2. They had last challenge left. one won

3. It was difficult to over the chatter. here hear

4. She out the candles on the cake. blue blew

5. The weather was far hot to play. to too two

6. Unbelievably, her had won! sun son

Decide whether the homophone in each sentence below has been used correctlg.
Correct those that are wrong.

Sentence Correct or | Correction

incorrect
v or X

It was a silent knight in Hangman’s Forest.

There was nothlng much to see in the dark.

Shelley wished that she didn’t have to bee there at all.

Her legs were bear and she kept getting stung by
nettles.
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